NOTES:

1. Installations depicted satisfy the requirements of the 2018 International Building
Code for design wind pressures and overall sizes noted.

2. Wood bucks, wood framing, steel stud framing, concrete and concrete masonry are
by others and shall be designed by the architect or engineer of record to resist the
loads imparted to them.

3.  Wood buck strips and wood frames are assumed S-P-F (G=0.42) or denser. Buck
width shall be greater than the frame width. Tapered or partial width buck strips are
not allowed.

4. Metal stud frames are assumed to be a minimum 18 gauge 33 KSI steel.

5.  Wood screws shall be corrosion resistant and meet the requirements of ANSI/ASME
B18.6.1

6. TEKS screws shall be corrosion resistant and shall be ASTM A510 Grade 1018 or
equivalent.

7. Maximum permitted shim thickness is 1/4". Shims shall be non-compressible and
load bearing type.

8. Products are impact resistant and do not require approved protection devices if

used in wind-borne debris regions.

WINDOW MAKE WIDTH
; ] 15" MAX.
3" MAX. k—————bk— oc
< <
®
Minimum Glazing
<> <> 1" Insulating Glass
EXT - 3/16" Annealed Glass
INT - 1/4" Laminated Glass
See Glazing Detail Sheet 4/4
< <
SEE REPORT NCTL-110-23279-1
FOR SUPPORTING CALCULATIONS.
WINDOW @ @
MAKE HEIGHT <> =
< <
15" MAX. <z>
o.C. e
Louver
+T— <> S For use with PTAC units only
@ 6) 21" Maximum Opening Width: 56-1/4"
Maximum Opening Height: 17-1/2"
3 wax b b He b
Maximum Dimensions and Design Pressure
FW FH DLO-W DLO-H Pressure I,
Glass Area < 22 ff? “c",'\'?ﬁEOFTEJc;"'.,
+ 65 PSF o %k X
Missile D Nt % xy
60" o4 | 56-1/4" | 69-1/4n |_VindZone4 ... JOSEPH A REED _
Glass Area > 22 ft? 19, 100777 S& N
+ 57 PSF RO
Missile D = SSIONAL EN
Wind Zone 4 “trrrsrsinh"”
<[> ANCHOR SEE SHEETS 2/4 to 3/4
2020.05.06 08:47:01 -04'00'
Contents Joseph A. Reed, PE
. TX PE 100777
Sheet 1 of 4 Elevations and Notes 5 Leigh Drive
Sheet 2 of 4 F!n Install to Wood York, PA 17406
Sheet 3 of 4 Fin Install to Steel Stud 717-846-1200
Sheet 4 of 4 Components

Project No. 23279-1
Drawing No. 23279-1-1003

Y
LLl
>
%)
- 2
O o ©
1 w B
>_
-
D: L @
w 5
> Eﬁ Z
@) - =
O
n < 2
LLI K
< O
— > =
L o -
O =z
§ o
z I~
°
s 2
&
Z 7z
'_LIJ ‘9(/)
O 32253,
— Ns-1xZ
= 283255
<C |3522%E
0n<
> 855?%%
.. §£§$O_l
ELIJ Q:BEEO-:‘I
S_1|UZFES:
5 firZorm
gl [328348
13
= gl ul I
Seo o~ 2 [®) o
538 93 L
i Bo| Z|#
Ng 24 Els (B
O SN ES |2
A
%e§9§'§£8
(@27
N
£283: 288
O._
@2 |§=¢
2 |25
W | 555
M £ 2%
g; vgg
<G | S E
)
H [h'd
cRHE
H - Nl
M\ ©
%% 8 &
58 8°




o
L
WOOD FRAMING OR 5 SIMILAR 6 SIMILAR >
2X BUCK BY OTHERS 1/2" MIN ) - @
1-1/4" MIN —= (SEE NOTE 3) EDGE DIST 1/2" MIN O o &
EDGE DIST o
WOOD FRAMING OR — E 5
) 2X BUCK BY OTHERS >
#10 X 1-1/2 N (SEE NOTE 3) \ @ < x
WOOD SCREW w J =
""l' | — WOOD FRAMING OR > % Z
1/2" MIN 2X BUCK BY OTHERS @) - —
_ EDGE DIST / (SEE NOTE 3) = Z
CAULK % mn S
(TYPICAL) INTERIOR < 2
L o ~
1-1/4" MIN 1-1/4" MIN o 2]
¢ O -
z P~
I —V k3]
i s
0.
EXTERIER INTERIOR EXTERIOR
#10 X 1-1/2" #10 X 1-1/2" D
WOOD SCREW WOOD SCREW O
HORIZONTAL SECTION DETAIL O
WOOD FRAMING INSTALLATION —
—
<
n Z
I—LIJ ’Qm
— §@'%L‘(§uj
(j) o02=3xZg
EEU=RS
Z 553252
SEg=EE
X o
sy, EZ § o E g 8 :,l
e OF T S |DEIECZ
AN = HomiEZy
s\\*?._'..- * --._.':g\*‘_“‘ § éj!&-%%l&.
% el 8 [32R25a¥
E JOSEPH A. REED E
X8 o077 -"'cus pas 5 L 3
oA 2,325
L gﬁl gg gg %
VERTICAL SECTION DETAIL W& Yy T = —E
zL =0T 58 8
= o @
& WOOD FRAMING INSTALLATION 22353231
2020.05.06 08:47:01 -04'00' © 0O §
1/2" MIN 62 | 525
EDGE DIST 2 | 258
Sttt ? Joseph A. Reed, PE I-Llﬂs 'S-,gé
TX PE 100777 = HES)
#10 X 1-1/2" = 5 Leigh Drive gi B
o X e York, PA 17406 P (o
WOOD FRAMING OR @= < e
1-1/4" MIN —= : | S| Q
717-846-1200 - )
2X BUCK BY OTHERS _ k| o
(SEE NOTE 3) Project No. 23279-1 I\ |3
Drawing No. 23279-1-1003 5 |5°




MIN PENETRATION
DRILL POINT +3 THREADS
(APPROX. 3/4")

(SEE NOTE 4)

~ 1/2"MIN
EDGE DIST

EXTERIOR

(TYPICAL)

INTERIOR

#10-16 TEKS SCREW

~1/2"MIN
EDGE DIST

MIN PENETRATION

L DRILL POINT +3 THREADS
(APPROX. 3/4")

STEEL STUD BY OTHERS

#10-16 TEKS SCREW
@r
\ CAULK

1/2" MIN
EDGE DIST

MIN PENETRATION
DRILL POINT + 3 THREADS
r (APPROX. 3/4")

5 SIMILAR

STEEL STUD BY OTHERS
(SEE NOTE 4)

#10-16 TEKS SCREW

VERTICAL SECTION DETAIL

STEEL STUD INSTALLATION

STEEL STUD BY OTHERS
(SEE NOTE 4)

EXTERIOR

INTERIOR

6 SIMILAR

1/2" MIN
EDGE DIST

STEEL STUD BY OTHERS
(SEE NOTE 4) \

MIN PENETRATION
v DRILL PONT +3 THREADS
(APPROX. 3/4")

#10-16 TEKS SCREW

HORIZONTAL SECTION DETAIL

STEEL STUD INSTALLATION

" ,,1111111,,,"’
IR OF T,
&

\“@
*

Yy JOSEPH A. REED

"’T“i‘

“2tsr100011""

3 .
) 100777 ig&

Ritioensse Gy
= SS/ eSeees E“ y
=, O/ONALEY o

)
“ttrrssssn”

Jree sk

2020.05.06 08:47:01 -04'00

7,

Joseph A. Reed, PE

TX PE 100777

5 Leigh Drive

York, PA 17406
717-846-1200

Project No. 23279-1
Drawing No. 23279-1-1003

M700 FIXED OVER LOUVER

Project Name:

PVB INTERLAYER
INSTALLATION INSTRUCTIONS

IN INSTALL TO STEEL

QUAKER WINDOW PRODUCTS

Description:

FOR FIELD MEASUREMENT,

DESIGN. CONTRACTOR MUST
VERIFY ALL DIMENSIONS.

www.quakerwindows.com [WILL NOT BE RESPONSIBLE

PHONE (573)-744-5211
FAX (573)-744-5586
FAX (573)-744-5822

CONNERCIAL WIRDOWS AND DOORS

HHH QUAKER

NONE |QUANTITIES, & INSTALLATION

Scale:

30f4

Freeburg, MO 65035 [gheet#

drafting@quakerwindows.com

JAR |504 Highway 63 South

Drawn By:

Date:

04-16-20




X
LL
>
> 2
O x ©
, , 1 w
Bill of Materials > O
Item Description Part No. Material Manufacturer Y <« E
1 Fixed Window Frame M52730 Alum. 6063-T6 Quaker mwl 4 5
2 Horizontal Mullion M56681 Alum. 6063-T6 Quaker > % E
3 _ oM Z
4 Glazing Stop M21195 Alum. 6063-T6 Quaker ') Z o
5 Corner Key 5009 /200 Die Cast Alum. Monticelli — LL] e
6 Corner Sealant 896TB Silicone Pecora b > m j
7 Backbedding RGS7700 Silicone GE — >
8 Structural Sealant Dow Corning 995 Silicone Dow Corning ’ B 1 | L O 5
el L — ‘ -—'—‘ o Z
4.8 26431 o -
s S ¢ O
z I~
I
>
0
L 51.340.2 |
L 50+£0.2 a
0l 1
| I —
Corner Key L
(Cast Aluminum) prd
(Metric Dimensions, Not to Scale) O
Q 2, 35
ow =
1 2 4 = 322534
oNs=xZ
O |gzz=s50
Saho2
@ e
13/8" 1/2" =— on:ﬁozsn—%
Zws ;8
& A g W=
- A S e 2 EowEZS
G 3/16" Annealed 1/8" Annealed \s"ié.\-"” ék {?@*._“ & gEEE%E
{ 11/4" .090" Kuraray PVB Interlayer §* % *y g gé o3uL
= B ] GE RGS7700 1/8" Annealed § JOSEPH A, REED § . S
u Silicone Adhesive Yok 100777 fac = ] wi
3 1/4" “-/'OO%‘-.(/ 9 R Bo o g % °
3" 115/16" _ “".’(\%SCENS@ \?‘,»‘ 2 93 2.~
Glazing Stop O S i23te |8
3/8" Backer Rod a M 5% 2 /:'\% b |5
—k e Dow 995 Silicone W : uz 253/ 59§
- Ox Z2x 2| 2 © b
L SRR
2020.05.06 08:47:01 -04'00' ©of
31/8" 31/4" 0% | =%
Sl Joseph A. Reed, PE @ £5¢
. . azing H To?2
Fixed Window Frame Horizontal Mullion Detail X EE 10Q777 @’ 38
5 Leigh Drive @; L -5
York, PA 17406 @ xS
717-846-1200 ')
Project No. 23279-1 EDDDE .
Drawing No. 23279-1-1003 5 |5°






